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QUESTION 1

When is a Sprint complete? 

A. When all of the Product Backlog items are completed. 

B. When all the tasks in the Sprint Backlog are completed. 

C. When the Sprint defined time box ends. 

Correct Answer: C 

 

QUESTION 2

A story was estimated at eight ideal hours. A working day is eight hours. Developers can get about six hours of work
done on a daily basis. 

What is the elapsed time required to complete the story? 

A. 1.25 days 

B. 1.33 days 

C. 2 days 

D. This cannot be determined without knowing the velocity. 

Correct Answer: B 

 

QUESTION 3

One of the Scrum Team members has the job to make sure that the customer gets the most value from the project. 

How do we call this role? 

A. The Product Owner 

B. The Scrum Master 

C. The Development Team 

Correct Answer: A 

 

QUESTION 4

Collaboration is the most important parameter for the success of an Agile team. What term best describes this type of
interaction? 

A. Distributed team working. 
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B. Information radiator sharing. 

C. Osmotic communication. 

Correct Answer: C 

 

QUESTION 5

What is the relationship between the Product Backlog, the Release Backlog and the Sprint Backlog? 

A. The Product Backlog is a subset of the Sprint Backlog, which is a subset of the Release Backlog. 

B. The Release Backlog is a subset of the Product Backlog, which is a subset of the Sprint Backlog 

C. The Sprint Backlog is a subset of the Product Backlog, which is a subset of the Release Backlog. 

Correct Answer: C 
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